The group G is isomorphic to the group labelled by [ ”could not identify G” | in the Small Groups library.

Ordinary character table of G = PSL(2,13) : C2:
la 2a 2b 3a 4a 6a Ta 7 Tc 12a 120 13a 14a 14b 14c

X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

X2 1 -1 1 1 -1 1 1 1 1 —1 —1 1 —1 —1 —1

Xs |12 2 0 0 0 0 —-EOAY2-E(75 —E(T)-B(7\6 —B(73—B1 4 0 0 -1 EM+E, E(TY 3+ BT, 4  EAY2+E(T)5

x4 |12 2 0 0 0 0 -E(Y3-E(7"4 —E@V2-ETY5 —E(T)—E(T)6 0 0 -1 E@W 2+E (7)+ E(77°6 E(7 3—|—E(7)

Xs |12 =2 0 0 0 0 -E(7\3-E(7"4 —E@2-E(Y5 —E(T)—E(7)6 0 0 -1 -E(7)2-E —E(T) - E(T6 —E(7)3— E(7) 4

e |12 =2 0 0 0 0 -—E(7V2-ETY5 -B(1)-E(T\6 —ET)3-B(1) 4 0 0 1 —B(7) - E( 6 —E(TY3—E(\ 4 —E(TY2-E(1) 5

Xt |12 2 0 0 0 0 -BE@-E7 6 —ET 3-ET 4 —E(772-E(7)5 0 0 ~1 E(TY3+E(774  E@2+ET 5 E(7)+E(7)“6

xs |12 =2 0 0 0 0 -E(T)-E()6 -—E(1 3-E7 4 —E(772-E@) 5 0 0 1 —EB(7Y3-E(1V4 —E(TV2-E(7Y5 —E7) —E{) 6

xo |13 1 1 1 -1 1 -1 -1 -1 -1 -1 0 1 1 1

X0 |13 -1 1 1 1 1 -1 -1 -1 1 1 0 -1 -1 -1

xin|14 0 -2 2 0 -2 0 0 0 0 0 1 0 0 0

xi2 |14 0 2 -1 2 -1 0 0 0 -1 -1 1 0 0 0

xi3|14 0 2 -1 -2 -1 0 0 0 1 1 1 0 0 0

xiu |14 0 -2 -1 0 1 0 0 0 B2 7—E(120 11 —E(12) 7+ E(120°11 1 0 0 0

yis|14 0 -2 -1 0 1 0 0 0 B2 7T+ E(12011 B2 7-E(12011 1 0 0 0
Trivial source character table of G = PSL(2,13) : C2atp =7
Normalisers N; Ny Ny
p — subgroups of G up to conjugacy in G P P
Representatives nj € N; la 2a 2b 3a 4a 6a 12a 120 13a | la 2b 2a 2a
T-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+1-x10+0-x11+0-x12+0-x13+0-x14+0-xa5 {14 0 2 2 2 2 2 2 110 0 0 0
O-x1+1-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15 (14 0 2 2 -2 2 —2 -2 140 0 0 0
O-x1+0-x24+0-x3+0-xa+1-x5+1-x6+0-x7+1-xs+0-x0+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15{49 -7 1 1 1 1 1 1 -3,0 0 0 O
O-x1+0-x2+1-x3+1-xa+0-x5+0-x6+1-x7+0-xs+1-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15{49 7 1 1 -1 1 -1 -1 -310 0 0 O
0-x1+0-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+1-x12+0-x13+0-x14+0-x1514 0 2 -1 2 -1 -1 -1 1170 0 0 O
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xx0+0-x10+0-x11+0-x12+1-x13+0-x14+0-x05 |14 0 2 -1 -2 -1 1 1 110 0 0 O
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+1-x11+0-x12+0-x13+0-x14+0-x15 14 0 -2 2 0 -2 0 0 rjo o 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-x1a+1-x15[14 0 -2 -1 0 1 —E(12y 7+ E(12)11 E(12)7—-E(12) 11 1 0 0 0 0
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+1-x14+0-x1514 0 -2 -1 0 1 FE12)7-FE(12)11 —-FE(12)74+E(1211 1 [0 0 0 0
I-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15| 1 1 1 1 1 1 1 1 ry1 1 1 1
O-x14+0-x24+1-x34+1-x44+0-x54+0-x6+1-x7+0-xs+0-x90+0-x10+0-x11+0-x12+0-x134+0-Xx14+0-x15 |36 6 0 0 0 0 0 0 -3|/1 -1 -1 1
O0-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x35|] 1 -1 1 1 -1 1 -1 -1 1 1 1 -1 -1
0-x1+0-x24+0-x34+0-xa+1-x54+1-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15[36 —6 0 0 0 0 0 0 -3/1 -1 1 -1
Py = Group([()]) = 1
P, = Group([(1,14,3,10,11,12,13)(2,8,6,7,5,4,9)]) = C7
N1 = Group([(1,2)(3,5)(4,6)(7,9)(8,11)(10,12)(13, 14), (1,3, 5, 8)(2, 4,7, 10)(6,9, 11, 13)]) = PSL(2,13) : C2

= Group([(1,14,3,10,11,12,13)(2,8,6,7,5,4,9), (1,9, 14,2,3,8,10,6, 11, 7,12, 5,13,4), (2, 5)(3, 12) (4, 9)(7,8)(10, 11)(13, 14)]) = D28




